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Instruction : All questions carry equal marks.

1.  Discuss Prof. Robbins’s definition of Economics. 14
OR
Explain :
(a) Value and Price
(b) Monetary Income and Real Income

2. Critically discuss the Law of Diminishing Marginal Utility. 14
OR

Explain expansion-contraction in demand and increase-decrease in demand with
diagram.

3. Ciritically discuss the Law of Supply. 14

OR
(a) Define the price elasticity of supply. Discuss the factors affecting the price
elasticity of supply.

(b) Explain the effects of change in supply on price.

4. What is Labour ? Explain the characteristics of Labour. 14
OR
Define Division of Labour. Describe the advantages and disadvantages of Division of
Labour.
5. Answer the following Multiple Choice Questions : 14
(1) According to Adam Smith, Economics is the study about
(a) Wealth (b)  Scarcity (c) Welfare
(2) The want satisfying quality in a good is called .
(a) Utility (b) Demand (c) Wealth
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(3) Human wants are .
(a) constant (b) unlimited (¢) limited

(4) Sunshine, air etc. are goods.
(a) economic (b) non-economic (c) free

(5) The slope of demand curve is
(a) positive (b) negative (¢) infinite

(6) demand curve is parallel to the vertical axis.
(a) Perfectly elastic (b) Perfectly inelastic (¢) Unitary elastic

(7)  When price increases by 20% and hence demand decreases by 10%, then the
elasticity of demand can be called
(a) Unitary elastic demand
(b) More elastic demand
(c) Less inelastic demand

(8) Elasticity of Demand can be calculated by _
percentage change in demand

@) percentage change in price

b percentage change in price

(b) percentage change in demand

percentage change in demand

©) percentage change in supply
(9) Equilibrium price in a market is determined by ___

(a) supply (b) demand (c) demand and supply
(10) When there is a decrease in supply, the supply curve shifts to

(a) right side (b) left side (c) upside
(11) If demand remains constant and supply increase, the price

(a) decreases (b) increases (c) remains constant
(12) Land is the factor of production.

(a) Natural (b) Man made (¢)  Unlimited
(13) Thereare _________ types of factor of production.

(a) four (b) two (c) three
(14) The expansion of division of labour depends upon the of market.

(a) type (b) size (c) production
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